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GENERAL INTELLIGENCE & REASONING

Directions : In Question Nos. 1 to 4, sclect | Directions : In Question Nes. & et 11 o
the related word/leter/number paic from the | SEries is  given: WD Jone lerm nissing
siven alternatives. Choose the‘eorrect. aliernative Trom the gives
i ones that will cemplete the serics ¢
I, ['eacher : School @ @ Doctor - 7 9. 7ZA, YB XC.7
(.‘d'ln'l' I"nSIE-'I {H} }'ﬂﬂ]'ﬂl“q‘,li {':-Ik;. L:.'!I';l,lllnI tiga-_\rll"‘ H"ﬁ Wy ’l."'" BT
("} House () Home L, B, ) A ' VRS
Draw : Pencil ; ;7 : Brash o {T":.. ]IEJI o 4.:51 Jf.:l.jr{:' ll 17 [ 1t
(A) Carve (B) Paint M (B) &2 bk
(C) Draw (I2) Polish 11. . Sagar introduced Mohan as nephew of the
1 ABC : CBA : : POR : ? only brother-in-law of his grandmotheg's
iﬂtj ;I}PI{ 22 {H} RPQ only son, How 1s Sagar related (o Mohan
[:C'} ROQP (D) STR (A) Cousin (B) Brother
" (C) Matemal Uncle (D) Son
4, 400:20::441:7 12.  From: the given altermatives sclecl the
(A) 21 (B) 23 word which cannot be formed using the
(C) 25 (D) 30 letters of the given word :
COMMVANDER
Directions : (QQ. No. 5 to 7) Select lhe-onc (A) COME (B) DANCER
which _ 18 different from other. “three (C) RACE (D) RECORD
altcenatives. 13. If in a certain code GEOGRAPHY is
3. (A) July (B)  August writlen a3 YHPARGOEG, then hew
(C)  September (D) Qctober GEORGIAN can be wriiten in that code #
6. {A) POSR {B) “ABDC (A) NAIROGEG (B) NAGIROEG
(C) WXYZ () EFHG (C) NAIGROEG (D) NARIGOEG
{C] 78 - 156 m} 69 — 138 mathematical signs to I'*?Fiﬂﬂ'ﬂ - IHIEITE
and to haTam‘E:c the following eguation
8. Which one of the given responses liﬂdfj_:l ? B) 4=
would be a wmeaningful order of the EU; ek EDJ i g
following in the ascending order ? : M
1. . Elephant 15. Some equations are solved on the basis of
5 Cav a certain system. Find the correct answer
¥ QA Amioeba for the unsolved equation on that basis.
: l x 3 x5=531, 2xTx9=972
?A} 34,3 (B) 4,2,3, 1 Frpxs=l
8 iet B i () 36 @ s
SPACE FOR ROUGH WORK Zx Lyn L;:ji u;_g’
=5 0 WM 39
E:""'{- &t .
for ot
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16.

17.

18.

19,

20,
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Select the missing number from the
given responscs.

4 8 20

9 3 15

6 6 y L

(AY22 BT 18 (Y16 (D) 24

Rajeev ts walking towards South. He
turns lefl twice and then tums nght.
Which direction is he facing now ?

(A) WNarth (BY South

(C)} East (D) West

Two statements are given followed by
two conclusions | and II. You have to
consider the statements to be true, even
if it seems to be at variance from
commonly known facts. You are to
decide which of the given conclusions
can definitely be drawn from the given

statements. Indicate your answer.
Statements : All beads are }JEI']L‘-I]S.
No pencils are balls.

Conclusions ;: 1. No beads are balls.
i 11. All pencils are beads,
-1A)  Only | follows.
B DnIE 11 follows.
Cé Roth 1 and 11 follow.
) Meither I nor I1 follows,

Siv friends M, N, O, P, Q and R are
standing in a circle. ‘N’ is between "OQ°
and 'P’, ‘M’ is between ‘0O’ and- Q"
‘R* is standing adjacent to ‘P’. Who is
between ‘M’ and ‘R" ?
(AN (B O @©OF )9
Identify the diagram that best represents the
relationship among classes given below :
Paper, Books, Stationery

(A) @ @J/
(€) @O (D)

21.

22,

Which answer [ignre will complete lhe
pattern in the guestion figure ?

Question Figure :

Answer Figures ;

||
(A) (B) (©) (D)

From the given answer figures, select
the one in which the (uestion figuve Is
hidden/embedded.
Question Fignee :

-

Answer Figeres :

HIRLEE

(&) (B)  (C) )

A migce of paper is folded and cut as
shown below in the question figures.
From the given answer figures, indicate
how it will appear when opened.

Question Figures :

< |

e —

Answer Figures :

i

(A) (B) (©)

SPACE FOR ROUGH WORK
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If a mirror is placed on the line MN,
then which of the answer figures is the
right image of the question higure ?
Question I‘.If:igu re:

]

N
Answer Figures .

33|25

(A) (©) (D)

A word is represenied by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given n
the altermatives are represented by two
classes of alphabels as in two matnces
given below. The columns and rows of
Matrix-1 are numbered from 0 to 4 and that
of Matrix-11 are numbered from 510 9. A
letter from these matnces can be
represented first by its row and next by iis

20.

21.

22,

For Visually Handicapped
Candidates Only

Amrange the following words as per
order in the dictionary :

1. effluvium 2. elMuent

3 efMorcsce 4, cllueruge
(A) 4,3,2,1 (B) 3,4 2,1

(C) 4,3,1,2 4P) 3,2,4,1
Given below are capital letters inothe
first line and numbers in e second
line. Numbers and letters wre gwde Tor
each other, Choose the comect code o
given letlers,

Z U Q EN/SYRF P I,
0o 9 2 65 '3 7 | & 4
RVZIQY 35042~

(A) 750417 (B) 750323

(C) 750428 750423
Which - oene¢. set of letters when

sequentially placed at the gaps in the
given-letter serics shall complete it ?
plas,_gr_pa_spq_s

(A)" pqrss BT qpsiT

(C) gspur (D) pqrrs

column e.2., ‘B’ ¢an be represented by 11, | 23. ~Find out the set among the four sets
22, 43 eftc, and ‘P’ can be represented by’ which is like the given set of numbers,
55, 75, 97 etc. Similarly, you have to 3,10,17
identify the set for the word given below- A) 4,11, 16 (B 7,11,17
CATS 12,20,28 (D) 14,23,30
Matrix 24. Prakash is taller than Rajesh. Rajesh is
i i1 taller than Jagan. Bhanu is taller than
oli1]2]3][4! 51617819 !‘rakaah, but s!_:n-::nrter than Dinesh. Who
o|A[BIC/D[E| [5|P|Q[RIS{T s the shortest ? -
rak
POBICIAT (ool | AU @
2{E|A|B|CID| |7|P|R{ST|Q ;

25. There are 2000 students in a school. 10
3|CIAIBIDIE| |SJQIPIRISIT percent of these students travel to
4|E|C|A|B|D| 9| TIQ|PIR|S schncllltl.";y -:.Lar, 4?_1 percent of the jtudtmsf_

, 30, 95, 78 , 13, 65, 88 travel by bus. How many students o
E‘é; 3? 35’?3 99 EE:{ ;g ?5’ 14 58 that school walk to Eﬂhﬂﬂl%”
S « PIRETT (A) 600 (B) 800 (C) 1200 &&yT000
SPACE FOR ROUGH WORK
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PFart-B

NUMERICAL APTITUDE

/"‘“’“‘1' — 31. The difference between the areas of
26. The value pi'ﬂ\“ ﬂj&ﬁ + J3 4195 - two circles, one circumseribing
(A} ¢ ' 1Ty A ’ aoother msertbed 0 & syuare s
s A (L 4 17 5q. cm. The arca ol the squarg is
: ' | 22
27. The least number 1o be subiracted (Take n="3)
e 4218 so that the eosvlling . )
number when divided by T3 17 gl (A} 525 sgoom (B} 4YSyCm
I '.I|I i*.'el%-a'_m vaell case the same {C] 08 5q. cm {D} 14 5q. cm
reqrtainder 10 is
(A) 3 (B) 35 32, A dealer of Saree-gold two types ol
() AR 9 sarecs viz A & 3o A 1ype of

28, A contractor underlakes to consiruct sarees he ammounced 20% discount

a oroad in 25 days and engages 28 and on._ B type ol sarees he
2 bought A type of sarec wm T 640 and
only 7 of the work is done. How B.aype ol saree ot T 170, what was the
many mare workers he should now actual total cost of the two sarees ?
engage in order to finish the work in (A) T 900 (B) ?ﬂgg
time ? ~ .
(MY 36 AR 21 (2 ¥ 800 (D T L0000
CagRR (M 8 . .
33. A trade man marks his goods m 25%

29, If 5 men or 9 women can finish-a above the cost price. If he allows his
piece of work in 19 days, 3 men and customer 10% discount how much
6 women will do the same work in percent profit does he make 7
(A) 10days  (B) 12 days (A) 7.5% (B) 8.5%

(C) 13 days (D) 15 days (C) 10.5% (D) 12.5%

30, 1If the perimeters of an equilateral 34, The single discount equivalent to two
triangle and that of a squdre are equal, successive discount of 20% and 5%
then the ratio of their areaswill be is
(A) 4:3 B) 4:3 (A) 15% (B) 24 %

(C) 4:33 D) 2:33 (C) 25% D) 30%
SPACE FOR ROUGH WORK
CT-2013 020 LH 3
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\ .2 ) 40. A person buys an article for ¥ 120
33. A’s money 15 3 of B's money and and sells at ¥ 150. Find gain percent.
0 a
B's money is lg—lul‘ C's money, then ?g E ‘-'il Eg{ §g ::
the ratio of A7 mouey (o s nwsiey
I8 41, An article is sold for T a at a profii of
(A) 15:22 (B) 9:11 b%. The cost price of the article is
(C)y 6:1!1 (D) " 9.:22 100 b 100 a_
(A) 100 — & o0 - b
36. A photograph of size |Bem o= 12 em 100 o _ LOO b
1s enlarged, so that its new length (C) 100+ b ) 100 +a
becomes 27 cm. The breadth of the
enlarged photograph will be 42. A dishonest dealer professes to sell
(A) 16 cm (B) ldcm his goods af cest price but uses g
(C) 18cm (D) 20cem false weight of 800 gm instead of
. 1 kg. His profit percent is
37.  What number must be added to cach (A} 15 (By 20
of 4, 10, 12, 24, so that the resulting (C) 25 (DY 30
numbers are in proportion 7
(A) 9 (B) 3 43, Mallika purchased some pigeons,
€ 6 (D) 4 10% died. Of the remaining, 25%
flew away. Now 27 pigeons remain,
38, Out of & numbers, average of the first How many pigeons had Mallika
five numbers is 20 and average of purchased ?
last five numbers 15 24. If the last (A} 38 (B) 40
number is 36, then the first number is (C) 42 (D) 37
(A) 20 (B) 16
(G 2 () 36 44. In an election, there are 1wo
candidates only. The one who gets
39.  The average of 30 results is 20 and 63% of votes is elected by a majority
the average of other 20 results-is 30. of 650 wvotes. Find the number of
What is the average of all the votes polled to the candidate who
results 7 lost the election.
(A) S50 (BY 48 (A) 1300 (B) 925
(C) 25 {PT 24 (C} 2500 (D) 3145
SPACE FOR ROUGH WORK o 5.
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45. A train leaves P for Q; at the same 49. rm'ﬂ lh:-" ,r'..ﬂr'%rﬂf ,igﬁ’c‘- il'mﬂﬁim from
time another train leave Q for P, The 'fﬂ:ﬁﬂiiﬁfﬁ ':.:.‘-I.I'.lt:;l 15{;;“"*”' then th
trains mect afler 6 hours, the train v 7 : .
from P to Q having travelied 8 km % G- A
per hour more than the other, 117 1he = F g
digtance Trom P 1o Q as 328 wn, the e i
speed of train from P o Q in £ 4. | r
km/hour is e Lo
(A) 40 (B) a8 e Fn L t
(Cy 45 (D) 30 k= A __I__;__

46. Two trains ol length 150 m and E E‘ E- E
250 m run on parallel lines. When B VEN
they run in the same direction it will (A) .2 iﬁcmrcx (B} 200 croves
take 20 scconds to cross cach other {{T; 400 erorey I_Q-j“ 315 crores
and when they travel In opposite 50. The -pwe-chart shows how 1080
dircction 1t will lake 5 seconds, Then Eg%f;ﬂﬁﬁh&gﬂﬁgﬂr l]:gﬂgate“:rnn II:};?
speeds of the two trains are ; i iyt
(A) 108 kmph and 180 kmph ofworkers who travel by bus is
(B) 50 kmph and 30 kmph e b e
(Cy 120 kmph and 100 kmph ”

(D) 72 kmph and 18 kmph 264

47, ¥ 1,000 becomes T 1,200 in 2 years _
at a certain rate of simple imerest. If Walking
the rate of interest is increased by
4%, what amount will ¥ 1,000
become in 3 years ? (A) 180 (B) 270 (3360 (D) 120
Eg::: :‘igg Eg:; :‘Eg For Visually Handicapped Candidates Only

: ‘ 49, 9999 x O8R4 =7

48. A sum of money amounts to ¥ 8,400 Eé} gggggﬂg E[E}; gggagﬂg
in 2 years and it amounts to-3 12,600 50. A tap fills a tank in 6 hours. Another
in 8 years at the same rale of simple empties the full tank in 8 hours. How
interest. Rate of interest p.a. is {““E (in hours) will it take o fill the

" i anlc, if the tank is empty and both
(A) 12% (B) 8% the taps are open ?
(C) 10% (D)  14% (A) 32 (B)24 (C) 36 (D) 48
SPACE FOR ROUGH WNR¥
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Part - C
GENERAL ENGLISH
Directions : In Question Nos. 51 to 60, ,
some parts of (he sentences have crrors o 5, “-lf‘--"::; gety “-1'“--'::-_:!:"
some are corvect. Find oul which part of a e ) (&
sentence has an error and blacken the oval li_w]ﬂ%tﬁﬁﬂh'{f_-f ﬂﬂ{%%ﬂ
(@] corresponding 1o the appropriaie i
letter (A, B3, OV 00 o sendence s free from
error, blacken the oval coresponding Lo
(D) in the Answer Sheet. 56 He is , 8 humumhlaf man. No etror. !
" (A) (B) (D)
| tned  my best to convinee him ;
Ty (8) | ,-
but filed. No error. 57, The statemen!t made by the wniter p !
© ) A .
dppgncsto be incorrect  as D, Zaki
(13)
Hussain was not bom in Allahabad.
., Beingvery late, Manoj | 1 oy ()
27, *) . Mo enoi,
(1)
could not return back /
(B)
from Meerut last night. IHG eITon.
(<) (D) i e A brave nan should ; always be loyal for |
' (A) (B)
his own country. , Mo error.
© (D)
Ahmed was proud for  his
53. @A) {
achievmmms; in the field of sports. I He entered ;‘hﬂ room |
®) © W e
m—m.m'& from the window. No error.
(D) (©) (D)
54. Piﬁ.(!:;‘:ﬂﬂd / thLE]I'}:ﬂBJ‘;JE] at ] 60. P]GEE_EE::] me (wo / dozen's ?;.;'lmla and /
my new address. _.:N“' StIol. a picce of coconut. No error.
© (D) (©) (D)
CT-2013 14 0Z0LH3
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Directions : In Question Nos. 61 w 70,
gentences are given with blanks to be filled
in with an appropriate word(s). Four
alternatives are  suggested for each
question. Choose the correct alternative our
of the four and indicate it by blackening
the appropriaie ovil [€@e! n (he Answer
Sheet.

61. The children shouted  the top
of their voices.
(A) in (13) at
(C) on (D) for
62. I preferchess ____ carrom.
(A) than (B) to
(Cy for (D) Drom
63. John was later blamed _ the
accident.
(A) for (B) to

(C) becauseof (D) with

64. Theexam __ _at 10 am, lomorrow.

(A) begins (B) is beginning

(C) would begin (D) begm

65, If I had known it was your birthday, !
baked a cake.
(A) would have
(B) will have
(C) have
(D} would not have

66. Letusnot fight _ petty nrobisras
(A) over (B) abouw
(C) on (D) with
67. My sister along with her bwo children
__arrived.
(A) is {B) are
(C) has (D) have
68. Youhaveno - lo order me.

(A) authunry (B) author
(C) permission (D) andacity

69. The thief with the ornaments,
(A) madeaway (B) madeoff

(C) made up (D) made out
70.. The Manager gave lus to the

proposal.

(A) consent {B) accent

(C) ascent (D) soothe

020 LH 3

Divecticus sl ucsiin

Dirvections :  In Ouesiron Nos, 71 Lo 73,
out of the Tour alisroalives, '-.h‘-'JUhE: the one

'-.h! sl Chorosets in-' aing ol the
gIven wosi aned ik il i "'m viswer Sheet
Th. Fhl:'fl:.
: bopegasats, i Ehihieal

LT AT 1S Lis SOaULIC Ve
T2, Disgusi

F A EEHITTY s Tapthing

ATt (1) Lansh

73, Ennmuly
(A)  Drritation (B}~ Awfulness
(O] Aoy (L) Hostility
s TE W TG,
choose the waird. oppuslic i meaning w the
given woid and made it in the Answer Sheet,
74, Econoniicsl

i i e ¥ |4 G L) Tit
'||_..l||' _!_.--jllpll,"l?.'.l:_l'l.:l.; L:_-'_' :‘.H.lfjg}"

5 “Me-ogaus (w0} denevolend
750, Weary

Ay Tiresuins () Enedgelic

i T T o
28, abcus

(A) DuninGiasi W3 Eliminate

(CY  Eradicate (i) Establish
Breativns ¢ In Tvestions Nos. 77 0 78,
four  aiicmanites wre Siven  for  the

underliiied  IdiesPiwnse, Choose  the
alternative  which best  oxpresses  the
meaning of the Jdiom\Phrase and mark it in
the Answer Sheel.
77. raining cats and dogs
(A) heavily (B) drizzling
(C} scatteiedly (D) thinly

78. 1o bein hot water
(A) to bein trouble
(B) 0 bathe m hot water
(C) o jump into a pool
(L) to commit suicide
79. welblanket
(A) good companion
(B} warm and frisndly
(C)  kill-joy
(D) helpiul

CT-2013
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Directions : In Question Nos. 80 to 84, a
part of the sentence is underlined. Below are
given allernatives o the underlined part at
(A), (B) and (C) which may improve the
senisnee. Lbovas ihe covrect alicmative, [n
case mo improveinem 15 needed, your
answer is (D). Mark your answer in the
Answer Sheet,

80. I was she, not me, who put forth the
atlraclive propesiton,
she, not [
(8)F her, not me
Y
(C) Ther,notl
(Dy Noimprovement

81. The closer I approached the valley,
so__mwore  dense  became  the

VeECLAL o1l

AA)  the vegetalion became more
dense

{(B) the dense vegetation came

iy the more dense besame the
vegetation

(D} No improvement

82. He had not even seen hér pregencein
the same 1osm.
(A} rejected
1B) registered
(C) regretted
(D)  Noimprovemenl

83. He is on the brink of financial nun,
(A) periphery of
AB) boundary of
(C) sideof
(D) MNo improvement

84, Prohibition is better than cure,

_,QK_Y Prevention

(B) Preparedness
(C) Preventive
(D) WNoimprovement

CT-2013
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Directions : In Question Nos. 85 1o 89, out
of the four alternatives, choose the one
which can be substituted for the given
words/sentence and-  incicate il hy
blackening tive apsrapriaie ovil |4 on
the Answer Sheet.

85. A doctor who treats children and
infants
(A) Gyuaecologist (B} raedialrician
(T}  Podiatrist (DY Beimuologis

86. One who has no money
(A) Egoist (B) Pedestrian
(C) Volunteer W Pauper

87. A tapkom which fish are kepl is
called an 1_
(A) “Aquatone  (B) Aquatint - *
(C) Aquacade (¥ Aquarnium

88. Omge who looks on the bright side of
things
{A) Pessimist (B) Optinist
{C) Infallible (¥~ Hypocrite

39/ A published <ollection of posms or
other picces of wriling
(A) Edition (B)
(C) Compilation (D)}

Directions : In Question Nos. 20 1o 95,
four words are piven in each question, out
of which only one word is correctly spelt,
Find the correctly spelt word and mark
your answer in the Answer Sheet, .
BT newconmimer

Umnibus
Anthology

90. (A) neucomer
(C) newcomer (D) nucomer

91. (A) abbrehviate (B) abbreeviate
(C) abbriviate (D) abbreviate

92. (&Y entrerpeneur Ry entreprennewr -
(C) entreprencur (D) c:ntra::pren:uri

93. (A) tranguility (B) tranquillity
(C) trancuility (D) trancuillity

94, (A) nightingle (B) nightingale
(C) nitingale (D) nightangle

95. (A) maintenance (B) maintanance
(C) maintaince (D) mentaince

020 LH 3
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Directions : In Question Nos, 96 to 100,
you have a brief passage wilth 5 questions.
Read the passage carefully and choose the
best answer Lo each guestien out of the lour
altermatives and mark it by blackemng the
appropriate oval (@@ in the Answer Shect,

Stiall improvements can lead o big
changes. A few (lowers can change the
look of 4 room. The efficiency of a factory,
for instance, depends upon an infinite
number of operations, performed properly
[rom day lo day.

Abraham Maslow, a well known
psychologist, mentioned with admiration
the case of a young man wl » spent several
years in Mexico digging decp wells to
provide clean drinking water to the
villagers. He managed to dig only three
wells and had 1o spend enormous amount
of time teaching the villagers to use pure
water m place of contaminated water.
There mighl have been only three wells but
they gave the engineer a greal [eeling of
achievement.

Charles Darwin has shown that given
enough time, smali and gradual canses can
produce large and radical changes, s lasi
book was in fact on earthworms. He was
preoccupied with the theme for forty years.
He had shown that on every acre of the
chalk hills near Down (England), worms
brought up eighieen tons of earth annually,
What a stupendous achievement for the
small and insignificant earthworm !

Even the dullest of men is a million
fimes moie creative and productive than
the earthworm. If men were to work In
unison like the earthworms, there would be
paradise on earth in the not too distant
future,

020 LH 3
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96.

97.

98.

100.

What can lead 1o hig changes
(A)  Bigimprovemens

(B  Small sltcration

() By allerpnons

(DY Small improvements

What con bring abou o cltmaessgthe
appcarance of & room 7

(A) A Tew llowers

(B) A bunch of [lowers

(C)y  Some chans

(DY Digeingavells

What gave the engmeer a great
fecling.of achigvement ?

(A Beigy  able 1w provide
vilFagers clean wuler

(B) Bemg able to dig wells

(CY  Supplying water to villagers

(DY  Talking to villnzers

Which of the foliowing siatements 15

true ?

{A) Man is not as creative and
original as carthworms.

(B)  Earthworms are intelligent
and hardworking.

(C)  Every human being is more
creative and more productive
than the earthworm.

(D) One man c¢an do what
millions of earthworms
together can achieve,

What does the author want to convey 7

(A) If only men were to work
unitedly, a lot of things could
be achieved.

(B)  People should leam to drink
clean water.

(C) Big improvements can biring
great changes.

(DY Men should work like
earthworms.

CT-2013
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Part —- D
GENERAL AWAREMNESRS

Which one of the lollowing 15 called
*Green Gold™ ?

(A Aproewmlurs () Forod

(C) Collee () MNoneofithes:

“Land includes forces which nmaturc
supplics a8 a lree wifl,” The above
definition of land iz given by

(A) S.K.Rudra (B) A. Marshall
(C) ILK.Mehta . (DY H. Smth

The linking of representatives in the
Lok Sabha to population was decided
in

(A) 1981 (B) 1961

(C) 1901 (D) 1971

SDRs slands for

(A) Significant Drawing Rights
(B) Special Drawing Rights
{(C) Sofl Drawing Rights

(D) Small Drawing Rights

The Reserve Bank was nationalized
on

(A) 1% January, 1947

(B) 1% January, 1948

(C) 1% January, 1949

(D) 1* January, 1950

Who among the following was the
founder of *All India Harjan Sangh’
to promote the welfare of the
untouchables 7 .

(A) B.R.Ambedkar

(B} Jyotiba Phule

(C) Mahatma Gandhi

(D) Sri Narayan Guru

Unlike subjecthood, citizenship rests
on

(A) Rights (B)
(€) Law (D)

Duties
Obedience

CT-2013

108, Gandhian concepl of Satyagraba i
Dhaged o
1Ay Waetinee of el hemoan beiys
(12} Truth ond non-violenee
{C) Economic cquality
(DY Relipion

PO, Whal i the nome ofNihe  Jowes

criminal court ol dndha ¥

{A) District Sessions Court

(B) District Magistrate’s Courls

() Nyaya Pamchayal

() HighCourt

110. The place. where Navy openl
revolted in 1946 against British rul
in India is at
{A) ~Bombay (B)
(13) “Cochin (D}

Caloutta
Madras

111 In which of the lollowing years th
Second Battle of Panipat was fought
(A) 1520 (B) 1857
() 1556 (1) 1561

182, Who was the Indian who fough
against Alexander the Great 7
(A) Raja Ambi
{(B) Rana Sanga
(C) King Porus
(D) Chandragupta

113. Who was the last Mughal Emperor 7
(A) Alamgir-Il
(B) Bahadur Shah
(C) Shah Alam-II
(D) Jahander Shah

114. What was the minister of Aryan King

called ?

(A) Gramini (B) Samithi

(C) Senami (D) Purohita
115, The famous Gol Gumbaz is in th

district of

(A) Bellary (B) Bidar

(C) Bijapur (D) Bagalkot

116. Living orgamisms mostly use
&) Solarenergy (B) Tidal energ
(C) Windenergy (D) Biotic energ
020 LH .
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117. The largest industry in India is

(A)  Textiles industry

(B) lron & Steel industry
(Y Cement industry
(M Awomobile industry
1i8. The most denscly populated continent
i the world 15
(A)  Asia (B)  Europe

1) Afnica (D) S. America
“Thara” tribes ave found 1

(A) Tara region

(B Woesterm Ghats

(C)} Chota Nagpur plateau

(D) Aravalli hills

120. Kyvat is currency of
(A) Myanmar (B) Bhutan
(C) Sri Lanka (D) Nepal

121, The main excrelory organ ol insccls

are

(A) Kidneys

(B) Nephridia

(C) Malpighian tubules
()  Ful bodies

122, One of the given is known as man of
the forest :
A44A) Chimpanzee
(B) Gibbon
(C)  Gorilla
(D) Orang-oulang

123. The gas essential for protein synthesis
15 -
(A) N, (B) O,
(Cy CO, (DY Ci,
124. Cobra emits venom through :
(A) Fangs (B) Tooth
~(C) Lowerjaw (D) None

125. Phosphorus is an essential constituent
of
(A)  MNucleic acids (B) Proteins
(C) Haemoglobin (D) Chlorophyll

126. Definition of force comes from

MNewton's

(A) first law of motion
(B) second law of motion
(C) third law of motion
(D) law of gravitation

CT-2013

20

127. A hqud drop attains spherical shapy

due to
(A) surface lension
(B) wviscosiy
() upward theust
([2) gravilahion
128. Waves which do nol requice dm
material medium for is propadithon i
(A) Malter waves
(B) Mechanical wawes
(C) Elastic waves
(D) Electromagnetic waves
129. The process ol emission of clectron:
(rom metalby UM rays is
(A) Photoeleclric emission
(B)  Thermionic emission
(C)  Secondary emission
(DY~ Field emission
130: The ‘Enter’ key on a keyboard is alst
known as
(A) Return key
(B} Program key
{C) Hit key
(D) Execute key
131. The decimal equivalent of the binar
number 1011 is
(A) B By 9
(C) 11 (D) 15
132. The network established by the U.S
Department of Defense is
(A) ARPANET (B) TEL NET
(C) USENET (D) NSFNET
133. A solution of washing soda in water i
(A) acidic (B) neutral
(C) bleaching (D) alkaline
134. Kerosene usually contains mixture o
hydrocarbons having carbon numbers
(A) CitoC, (B) CitoCy
(C) C,toC, (D) CtoC
135. Which of the following metals is @
liquid ?
(A) Ca (B) Hg
(C) Na (D) Mn
020 LH:



136.

137,

138,

132,

140,

141.
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Bleaching aciion of Sufplur dioxide

15 dug i

(A) redustion

(BY  oxidatinn

o) hydrolsas

(D3 s acidic nebug

Naticnal  Eiodivesity  Authiorny

locaied &

(A} Twluchdiry R PREGRTL A

(C) Hyderubad (L) Chenna

Birds in modam pouhiry Sme s

reared so as o

(A} reduce canmbalism

(B) prevent egg damage

(C) avoid infighting of birds

(D) get rid of Wildhin Protectios
Act

Which ont of ilic Pllowing place 15

unlikely to be affecied by 2 cyclone ?

(A) Chennat (RY  Mangalore

1) FPuri (TN Annise

The abbreviation *OPCW" stands foi

(A) Organization for the Prevention
of Chemical Weapons

(B) Oadinance for the Probibiiigiref

Chermical Weapons

(2) Orgamization for the Prohibition
of Chemical vV capuns

(D) Overseas Programime. [or the
Cooperation on War

The first sports person te have honour

of “Bharat Ratna’” is

(A) Milkha Singh
Sunil Gayaskar

(C) DaraSingh
D) Sachin Tendulkar

142, “LGBT" stands for

(A} Lesbian, Gay, Bisexual and
Transgender

(B) Ladies, Girls, PBoys and

1 Transgender

(C) Lesbian Girls and Baby Toys

(D) Lesbian Girls, Bisexual and
Transgender

e p o —

143.

The puny which did rol suppon
recertly nassea Lokpal Bill - 2013 iy
.ok Sabha ig

FER T RN im ose

L'y L 3 uae

i44. “Bharat Rana” awardee of forciyn

146.

147.

148.

149,

150.
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ationaity died 1 December 2] 50s

ﬁ;‘x-:l ..'\:._‘:'il:l] SicliliaChig
RY O G [ han
(G} Donis Lesseing

(D) Dalai Lama-l

Which af thedoliowiag types ol teeth
is used for grinnhog tond Y
(A) Camfre (B}
(C) ‘Molar (D)

Which of the following pairs is
correctly piiched 7

Incisor
Milk 1

P Samath - Buddha's birth
place
(B) "Lumbini - The place where he
attained enligltenment
(1 Bodh ~ Where he delivered
Gaya his [irst senmon
)  Kusinagar— Buddha’s death place

Who was called the “Shakespeare of
India™ ¢

(A} Dandm
(B) . IKalidasa
(C) Harisena

(D} Vishakhadutta

The Mauryan King who bwit the
Sanchi Stupa was

(A) Dasaratha

(B) Chandragupta Maurya

(C) Bindusara

(D) . Ashoka

The tragedy of Jallianwala Bagh
Massacre in April 1919 oceurred at
(A) Lahore (B) Karachi
(C) Chandigarh (D). Amritsar

Who among the following saints of
Bhakti Movement hailed from
Navadweep (Bengal) ?

(A) Kabir

(B) Chaitanya Prabhu

(C) » Ramanand

(D) Ramanujacharya
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